Multiplication de Trois Trinomes (A)

Simplifiez chaque expression.

1. (—37“4 + 473 — 2r2)(67’4 +3r3 + 77“2)(—27"4 — 3+ 97’2)

2 (2¢° +3¢% + 8¢)(—2¢° — 3¢* — 6¢*)(9¢* + 9g + 1)

3. (3m3 + 2m® + m)(=9m® — 9Im* + 6m®)(5m* + 8m? — 4m?)

L (n® — Tt — Tn?)(8n 4+ Tnt — 4n*)(3n* + 2n® — 8n?)

(q" = 5¢° — 8¢°)(5¢° + 5¢* — 2)(—84¢” + 4q" + 6¢°)

Ot

6. (=72° + 821 — 72°%)(—2* — 5z — 7)(—62° — 92* — 92%)

7 (=b* = b+ 1)(7b* — 8b> — 9b*)(4b® + 3b — 4)

S (=B =82+ 5F) (=311 + fF = 8 (=61 — 2/ +2f?)

~

0. (Tt* + Tt + 5t%) (=17 + 2 + 5t)(Tt° + 3t* + 8¢%)

10 (=323 + 2% 4 22)(22% — 22% — 42?) (627 + 92° — 82?)
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